XYZ,,=97.93 ,100.0, 118.95 lYan=[Y_5°]/50
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8= a, [ (x=x) /)
bz bylz/y
=1, byy=-04
X, = 0,110, B, = 0,700
Crg=[AF+B 006 = o,
6 Ostwaldcolours (o) = 50 /'?
of maximum (m) C, “
linear colour space Cyg ,, Y)
Hllumin. QOO ¥,,=100 Yy=4 1053.
Name Range X, Y, Z, X Y
R, 567775 6249 4142 492 05741 oabe s 457
V) 492775 78.77 9459 1157 0.4259 05114 570 462
G, 492_567 2028 57.26 1153 0.2277 06428535 5856

C, 380_567 30.45 62.67 118.910.1784 0.2835 487 596 Parameter:
B, 380_492 23.18 951 11225 0,159 0.0656 462 570 Y & Name
M, 567_492 8166 46.84 1123 0.3391 0.1045 535c535 .
567
W) 380_775 97.93 1000 116.950.309 03155 1005 lluminant Q00
N, 380775391 40 475 0309 03155 4% Y,,=100 Y, =4

7,380 7751762 180 2141 0309 03155 18%
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